
Poziom por·wnawczy 55,00 m n.p.m.

Rzňdna terenu projektowanego

6
7
,
8
1

Rzňdna terenu istniejŃcego

6
7
,
7
0

Rzňdna dna rurociŃgu

6
4
,
6
9

GğňbokoŜci

3
,
1
2

Spadek

OdlegğoŜci [m]

OdlegğoŜci [m]

Materiağ

DğugoŜĺ trasy [m]

0
,
0

D-9

6
8
,
2
0

7
0
,
0
0

6
4
,
8
9

6
5
,
0
7

2
,
9
2

3
,
1
3

60,0

6
0
,
0

6
7
,
2
0

D-13

6
7
,
6
0

6
7
,
5
0

6
5
,
2
5

2
,
3
5

60,0

1
2
0
,
0

6
8
,
4
0

D-14

6
8
,
1
0

6
8
,
0
0

6
5
,
4
3

2
,
6
7

3,0 ă

L=180,0

60,0

GRP dn 400    SN 20 000      L=180 m

1
8
0
,
0

D-15

i
s
t
n
.
 
w

o
d
.
 
 
ß

4
0
0
 
 
R

o
=

6
5
,
5
5

i
s
t
n
.
 
w

o
d
.
 
 
ß

2
0
0
 
 
R

o
=

6
5
,
9
0

i
s
t
n
.
 
k
a
b
e
l
 
e
n
e
r
g
.
 
N

N
 
 
R

o
=

6
7
,
0
0

i
s
t
n
.
 
k
a
b
e
l
 
e
n
e
r
g
.
 
N

N
 
 
R

o
=

6
7
,
0
0

i
s
t
n
.
 
k
a
b
e
l
 
e
n
e
r
g
.
 
N

N
 
 
R

o
=

6
6
,
7
0

i
s
t
n
.
 
k
a
b
e
l
 
e
n
e
r
g
.
 
N

N
 
 
R

o
=

6
6
,
6
0

p
r
o
j
.
 
k
a
b
e
l
 
t
e
l
e
t
e
c
h
.
 
 
R

o
=

6
7
,
1
6

i
s
t
n
.
 
k
a
b
e
l
 
e
n
e
r
g
.
 
N

N
 
 
R

o
=

6
7
,
6
2

i
s
t
n
.
 
k
a
b
l
e
 
e
n
e
r
g
.
 
N

N
 
 
R

o
=

6
7
,
5
4

i
s
t
n
.
 
k
a
b
e
l
 
e
n
e
r
g
.
 
N

N
 
 
R

o
=

6
7
,
5
4

i
s
t
n
.
 
b
u
d
y
n
e
k
 
d
o
 
r
o
z
b
i
·
r
k
i

i
s
t
n
.
 
k
a
b
e
l
 
e
n
e
r
g
.
 
N

N
 
 
R

o
=

6
7
,
0
2

i
s
t
n
.
 
w

o
d
.
 
 
ß

2
5
0
 
 
R

o
=

6
5
,
7
5

p
r
o
j
.
 
k
a
b
e
l
 
t
e
l
e
t
e
c
h
.
 
 
R

o
=

6
6
,
8
5

6
6
,
7
5

6
6
,
7
5

6
3
,
5
8

3
,
1
7

0
,
0

D-istn

6
7
,
0
8

6
6
,
9
6

6
3
,
9
5

3
,
1
3

55,0

9
3
,
0

p
r
o
j
.
 
s
t
.
 
d
n
.
1
2
0
0

6
3
,
8
5

6
3
,
9
1

D-2

6
6
,
8
6

6
6
,
8
5

6
3
,
7
7

6
3
,
8
4

2
,
9
8

3
,
0
2

1,8 ă

L=38,0

38,0

3
8
,
0

p
r
o
j
.
 
s
t
.
 
d
n
1
2
0
0

6
3
,
8
3

6
3
,
8
3

D-1

6
7
,
0
2

6
6
,
8
5

6
4
,
0
6

2
,
9
6

55,0

1
4
8
,
0

p
r
o
j
.
 
s
t
.
 
d
n
.
1
2
0
0

D-3

6
6
,
8
1

6
6
,
8
5

6
4
,
1
6

2
,
6
5

52,0

2
0
0
,
0

p
r
o
j
.
 
s
t
.
 
d
n
.
1
2
0
0

6
4
,
0
7

6
4
,
1
3

D-4

6
6
,
6
8

6
6
,
7
0

6
4
,
2
7

2
,
4
1

52,0

2
5
2
,
0

p
r
o
j
.
 
s
t
.
 
d
n
.
1
2
0
0

6
4
,
2
1

6
4
,
2
5

D-5

6
6
,
8
9

6
6
,
7
4

6
4
,
3
7

2
,
5
2

52,0

3
0
4
,
0

6
4
,
2
9

6
4
,
3
7

D-6

6
7
,
1
0

6
6
,
7
0

6
4
,
4
8

2
,
6
2

52,0

3
5
6
,
0

6
4
,
4
5

D-7

6
7
,
3
1

6
7
,
1
5

6
4
,
5
8

2
,
7
3

52,0

4
0
8
,
0

6
4
,
5
3

D-8

6
7
,
8
1

6
7
,
7
0

6
4
,
6
9

3
,
1
2

53,0

4
6
1
,
0

k
d
 
4
0
0
 
z
 
u
l
.
 
b
o
c
z
n
e
j
 
d
.
6
4
,
8
9

6
4
,
6
3

D-9

6
8
,
3
3

6
8
,
4
0

6
4
,
7
9

3
,
5
4

52,0

5
1
3
,
0

6
4
,
7
0

6
4
,
7
3

D-10

6
8
,
8
5

6
8
,
6
0

6
4
,
8
9

3
,
9
6

52,0

5
6
5
,
0

6
4
,
8
3

D-11

6
9
,
1
6

6
9
,
0
0

6
4
,
9
5

4
,
2
1

30,0

5
9
5
,
0

k
d
 
d
n
3
0
0
 
d
.
6
6
,
3
5

6
4
,
9
1

D-12

6
9
,
3
6

6
9
,
0
5

6
4
,
9
7

4
,
3
9

2,0 ă

L=567,0

10,0

GRP dn800 SN 10 000          L=567 m

6
0
5
,
0

6
9
,
1
6

6
9
,
0
0

0
,
0

D-12

6
9
,
3
5

6
9
,
3
5

6
6
,
3
5

6
6
,
7
5

2
,
8
1

2
,
5
9

18,0 ă

L=22,5

22,5

GRP dn300 SN 20 000

2
2
,
5

p
r
o
j
.
 
k
a
n
.
 
s
a
n
.
 
 
ß

3
0
0
 
 
R

d
=

6
2
,
5
6

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
3
 
i
 
K

-
4
 
ß

2
0
0
 
 
R

d
=

6
4
,
4
1

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
2
 
 
ß

2
0
0
 
 
R

d
=

6
4
,
3
3

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
1
 
ß

2
0
0
 
 
R

d
=

6
4
,
3
3

odcinek wykonany

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
5
 
i
 
K

-
6
 
ß

2
0
0
 
 
R

d
=

6
4
,
5
7

p
r
o
j
.
 
k
a
b
e
l
 
t
e
l
e
t
e
c
h
.
 
 
R

o
=

6
5
,
9
3

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
7
 
i
 
K

-
8
 
ß

2
0
0
 
 
R

d
=

6
4
,
6
3

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
9
 
i
 
K

-
1
0
 
ß

2
0
0
 
 
R

d
=

6
4
,
7
1

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
1
1
 
i
 
K

-
1
2
 
ß

2
0
0
 
 
R

d
=

6
4
,
7
5

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
1
3
 
i
 
K

-
1
4
 
ß

2
0
0
 
 
R

d
=

6
4
,
7
9

i
s
t
n
.
 
k
a
b
e
l
 
e
n
e
r
g
.
 
N

N
 
 
R

o
=

6
5
,
9
6

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
1
5
 
ß

2
0
0
 
 
R

d
=

6
4
,
8
7

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
1
6
 
ß

2
0
0
 
 
R

d
=

6
4
,
8
7

p
r
o
j
.
 
k
a
b
e
l
 
t
e
l
e
t
e
c
h
.
 
 
R

o
=

6
5
,
9
1

i
s
t
n
.
 
k
a
b
e
l
 
t
e
l
e
t
e
c
h
.
 
 
R

o
=

6
5
,
9
1

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
1
7
 
i
 
K

-
1
8
 
ß

2
0
0
 
 
R

d
=

6
4
,
9
5

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
K

-
1
9
 
i
 
K

-
2
0
 
ß

2
0
0
 
 
R

d
=

6
5
,
0
3

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
2
1
 
i
 
K

-
2
2
 
ß

2
0
0
 
 
R

d
=

6
5
,
1
3

p
r
o
j
.
 
k
a
n
.
 
s
a
n
.
 
 
ß

2
0
0
 
 
R

d
=

6
4
,
1
5

i
s
t
n
.
 
k
a
b
e
l
 
t
e
l
e
t
e
c
h
.
 
 
R

o
=

6
6
,
9
8

i
s
t
n
.
 
k
a
b
e
l
 
e
n
e
r
g
.
 
W

N

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
2
3
 
i
 
K

-
2
4
 
 
ß

2
0
0
 
 
R

d
=

6
5
,
2
3

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
2
5
 
i
 
K

-
2
6
 
ß

2
0
0
 
 
R

d
=

6
5
,
3
3

p
r
o
j
.
 
k
a
n
.
 
d
e
s
z
c
z
.
 
K

-
2
7
 
i
 
K

-
2
8
 
ß

2
0
0
 
 
R

d
=

6
5
,
4
1

i
s
t
n
.
 
w

o
d
.
 
 
ß

4
0
0
 
 
R

o
=

6
6
,
6
0

i
s
t
n
.
 
w

o
d
.
 
 
ß

2
0
0
 
 
R

o
=

6
7
,
0
7

ul. Matuszewskiego

ul. Matuszewskiego

ul. boczna

GRP dn800 SN 10 000          L=567 m

ul. boczna

i
s
t
n
.
 
k
a
b
e
l
 
e
n
e
r
g
.
 
N

N
 
 
R

o
=

6
7
,
0
2


